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BIOLOGICAL SCIENCE §5. The physiological disorder due to accumulation of heavy metals into human beings
through food chain is
S1.  Weeds and some wild plants are not eaten by insects, pests and amimals because (1) Renal damage (2) Tooth decay
(1)  Their leaves are very small (3) Loss of eye sight (4) Heart discases

(2) These are not attractive

v S0 5OR K Ky e
(3) The plants may contain toxic chemicals and unpleasant to taste :1?55)566 &:5°6E 050 O'g0° 2,?52_5&?9‘5‘&: B8eo S0k SHR 708 )

S DO FR) Ed Ioned v, DE HHHm HOAD WP
(3) Soedisry §6 380 (4) 100G 2enye

AIENIGRS Ko 80

(1) e esSHew D3I GoEes0. 56. Expand BOD.

(2) 3 esPedabor osEdSEo. , BOD e

o . (1) Biological Oxygen Defticiency
(3) 0K IJIr0S SFrahTren EOA SIS Jewsed) HIE® Hosero. (2) Basic Organic Dominance
(4) 33555:1 ' (3) Biological Qxygen Demand
- ! (4) Basal Organic Demand
52. The biﬂlogicall process in which light energy is converted into chemical energy is 57. ‘ESRD’ is related to this organ and its full form is

() RESplr:iltI(}n (2) Fhotosyn thf:Si‘S (1) Lungs — End Stage Renal Disease

{3) Exoreiion (2 “Meamiponiation (2) Kidney - End Stage Renal Disease

S*08 ¥5 EAHE Fgr °80y 23 A (3) Kidney — External Sophisticated Renal Disease

(1) &0% 2) 55992355 SO &aH (4) Lungs — External Sophisticated Renal Disease )
‘ESRD’ &3 3550 2 9300508 $02057d) $OA &0, 850 ESRD J 2300

(3) 3G 8o 4) (339

(1) &s>08en — End Stage Renal Disease
53. End products of light dependent reaction is

(2) SorEdoGeen — End Stage Renal Disease
308 36" 708 S5 o ST

(3) SoresnoGeen — External Sophisticated Renal Disease

(1) C(H\,0, (2) CO, .

(3) O,, ATP,NADPH (4) H,0 : (4) &eD0BKen — External Sophisticated Renal Disease
54. These seeds are used in the production of biodiesel §8. The cardiac cycle contains

(1)  Groundnut ~(2) Jatropa (1) Auricular Systole (2) Ventricular Systole

(3)  Coconut (4)  Sunflower (3) Aurico-Ventricular diastole (4) All of these

& ST 0D ArdeS &35)38 IIBEAN. 5995 Soapod® wofb |

(1) SeoBSK (2) eESd (1) 5880 DS (2) 88050 DS
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Very poor muscle development, swollen legs, fluffy face, diarrhoea and dry skin are thc
symptoms of this disecase

(1) Kwashiorkar (2) Marasmus
(3) Obesity ., . (4) Pellagra

SolTre DHINSe Tho IO GokKo, S, 3@:@3 Sopo &)y Hodo,
PELTOS B350, ITBT 0 B T4 oFered |

(1) s 2) Do
(3) Sryostabdso (4) v

Material required to conduct an experiment to prove CO, is evolved during respiration

(1) Glass bottle, germinating seeds, thermometer
(2) Glass bottle, germinating seeds, lime water
(3) Glass bottle, dry seeds, thermometer
(4) Glass bottle, dry seeds, lime water

FHOEODNS” S B e3y5 BSOSO (SR T0° DETDOLDHEND S50 S
(1) e ?\3@?, SNOSEN JTren, cﬁUl’&fbégS

(2) ™2 OFF, IDOIEH ST, X038)9) ADH

(3) ez A, JotH IFTew, Gom s

(4) 1rer O, Joth FTe, 3P Db

Correct statement among the following :

1.  Xylem transports minerals and water.
ii.  Phloem distributes nutrients.

il.  Xylem has upward movement.

1v.  Phloem has also upward movement.
(1) iandii (2) 1,1iand iii
(3) i, iiiandiv (4) All of these

308 T°¢3&° SBiS TP HBOSHB®.

i OO e 0SeTen HOA Je3D Sres DBAS.

ii. DK Eearo0 3K STPTOD Sares B0,

il OPE) DI BP0 DA HoEHD. H3

iv.. 3% Eeomro0 Eree 23 B0 EOA JHothd.

(1) i5080% ii | @) i ii%bcwii WU
(4) 25 ~ (i
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62. This is the way how sperm break through the egg cell membrane
(1) Tears a hole in the membrane .
'(2) Dissolves the membrane with chemicals.
(3) Bites through the membrane with teeth.
(4) Squeezes through gaps in the membrane.
(8800, ©0G°) JT° 26%08.
(1) @0 555085° So@ ‘5@3&0 oo
2) 0 55T S>ohores EBAoHEo oo
(3) ol 55 Svsko oo X
@) ©0s E5508° Frdo SHEo T
63. What happens when Adrenalin level increases in our blood ?
i, The hair on the body becomes erect and we get goose bumps.
it.  Skin becomes sensitive
iii.  Anger decreases
iv. Urine may discharge =
(1) 1i,iiandii (2) ii,iiiandiv
(3) iiiandiv (4) 1. ii and iv |
5508’ JIGNOS o DOANICD
i, Saren 9% SEHHOoETON.
1. iSU"&Dé DN B0 HIHSDOD.
iii. 50 S$1H0d.
iv. S0 DRED wOH).
(1) i, ii 083w iii (2) i, iii S00a%w 1v
(3) i 50005 iv @), ii $8aKw iv
64. This part of brain controls hunger pangs _ ;
| (1) Medulla oblongata (2) Diencephalon
(3) Cerebrum (4) Midbrain
TEORVIRRISRY K)d’no@?oiﬁa 0SSR o
(1) Sogg 0o i oo (2) D‘sﬁﬁsgo
(3) ;'Dgga":%o (4) oG5 DO
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Meaning of the phrase “Omnis Cellula de Cellula” is

(1) All cells exist from preexisting cells.
(2) All cells can divide.

(3) All cells contain Nucleus.
(4)  All cells are the product of Nucleus.

“Omnis Cellula de Cellula™ &5

(1) @) SeTen S00HSE0 5e57o HoW DD
(2) &9334 Kegren Diessd DotDD.

(3) &) SeTroR SOILS%0 &OKD.

(4) @) Sered 30550 0D IBYEDHD.

This vitamin is not available in any kind of food material, only digestive tract fauna
synthesis it.

BIS 3OBI ILWHOS DB G Soge T SDoE BTIoS &od

er3B05r KogxiEs T°0° OO ? - ,
(1) B, (2) B,
(3) Vit-D 4 B,

Which of the following statement is correct in respective of ‘diaphragm’ ?
(1) It helps in maintaining of heart beat.

(2) It helps in releasing of lactic acid.

(3) It helps in moving of air into and out of lungs.

(4) It helps in releasing of energy.

&8 BP0’ B ©SODBB0HK $0LI0HOD HTS THgw.

(1) FEaD 50580 DOHOIB0LHEIE” HIFADSESH0B.

(2) ©§8 Bfsm DSOS SFFAHIEDS®S.

(3) 1O &dO8RL §°I3 T°55IE, wAHErd FBGE HIAHBEH0S.
(4) ¥ DHB0E SSEADHSEH0B.

Hormone that helps in absorption of water from urine is
(I) Vasopressin (2) Cartisol
(3) Adrenalin (4) Testosterone

Saroé’ eI Faostod” SgyGE SEYS
(1) TR 2) sQ>S
(3) A0S (4) 8PP
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69. The muscles that helps the mouth enable the food to be pushed into oral cavity are

(1) Pharyngeal muscles (2) Longitudinal muscles
(3) Circular muscles (4) Sphinter muscles
a0 S8 H5606°08 IgEod’ Sd S Sokooe

(1) (8 Sodkorew (2) Klgﬁ‘g‘t)' So&oren
(B) SO Sokoe (@) H038e3 Sokoe

70. Vasectomy means

(1) Cutting and tied of Sperm ducts (2) Cutting and tied of fallopian tubes

(3) Foeticide (4) Prevention of sexual diseases
I35 S ' |
(1) HETTD 5800 0d3ato (2) eoET oD 5§60 SndIoneo
(3) (e (4) BoAETO B
71. Branchial respiration is found in
(1) Cockroach (2) Fish
(3) Frog (4) Birds
303y o0 FHEAH IS BEIHD.
(1) &Qos 2) 35
(3) 55 | 4) SPHeo

72. Cluster of air sacs in lungs are called
(1) Bronchi
(3) Blood capillanes (4)

4288’ &od md 8K S0td Joyrre

(2) . Bronchiole
Alveoli

(1) =TT (2) T JrYEen

(3) O§S¥ odsew (4) TA5w Reen
73. Double fertilization is seen only in

(1) Cycas (2) Pinus

(3) Angiosperms (4) Bryophytes

85 $0H56E0 SOA &0GO

(1) ¥ (2) SO

(3) e3Sdew (4)  &LOHIE IKH (LATPESTH)
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The four stages of urine formation respectively : _

1. Glomerular filtration ii.  Tubular secretion

ili. Formation of Hypertonic urine ~ iv.  Tubular reabsorption

The correct sequence is ,

(1) i, i, i, iv (2) i,1v,ii, i

B) i, i, iii, iv (4) 1,10, v, i

Soro DyEcos Ko S¥en SwsEHos”

i. Odyreso ii. OPYSPRE0

iii.  OATES Ko Sor@o GGG iv.  STEPSE HI:F B0

3% SE" EraDod.

(1) i,iii, 1, iv (2) 1i,iv, ii, iii

(3) 1,1, iii, iv (4) i,iii, v, ii

Stethoscope is discovered by

(1) William Harvey (2) Marcello Malpighi

(3) Rene Laennec (4) Fabnci

REIHHD KOS TF3

(1) ddavo I (2) Sr0yE srdye

(3) BI8JHE 4) PO

The liquid portion after the formation of blood clot is called

(1) Serum (2) Plasma (3) Lymph (4) Water
550 HEEES Songes 0ADS (5T Zlelvled

() Hso 2) T 3) ©o0 (4) S
This shows remarkable affect on photosynthesis :

(1) Temperature (2) Humidity

(3) Intensity of light (4) All of these

Steaesss SOAIPK ($aHE’ HQOSEH (HeTS0 Srad.

() &¥rs (@) s B) So8BS (4 1Y
In grafting the plant part which supplies nutrients from soil is called
(1) Scion (2) Graft
(3) Stock (4) Branch

&0 5%3606‘ 0% J0 0D E50 ©odoID

(1 :5Cﬁ?¢5(t’.‘90¢.1)) (2) tn,é
() s @ £
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79. Forelimb of whale, wing of bat, hand of human being are said to be

(1) Homologous organs
(3) Remarkable organs

(2)
4)

Analogous organs
Common ancestor organs

BWOlo Toee, KByo0 BHED, HIA Jow, 33
2) Bairrdy eSchTred

(1) 30“&5’33"3’))5 £9:30DT°ED
(3) HBOISAS eS0T

(4)

FiriSs JO Do eIADT D

80. John Daper : Human Physiology : : Charles Lyell :

(1) Principles of Geology
(3) Malthus theory

(2)

(4)

Natural Selection
Genetics

8 o6 : s %66 (58 T30 11 T80 BS

(1) Principles of Geology
F. 9
(3) S IFTOBIN

81. Phytoplanktons means
(1) Plants grown on river side
(3) Plants submerged 1n water

3)E, S50 JT
(1) 38 88 oS0’ OR oK
(3)  De38* 30IA Hot K

82. Charles Elton relates to
(1) Embriology
(3) Ecology

T°gH oS HAS $022080DI TH.
(1) 20&'& T30

(3) e350¢e9 ia@o

(2)
(4)

(2)
4)

(2)
(4)

(2)
(4)

(2)
(4)

98)8 Hgo
asa'ns ?&A’_m

Plants grown on surface of water
Plants grown on trees

53 4350500 BOIPE Ko
SHgroD 208 InKHw

Physiology
Geology

$08 c.'.ﬁtﬁ& e‘éo
ajrﬁcsa ?QO

83. The process involved in the formation of seedless fruits

(1) Parthenogenesis
(3) Regeneration

T B Fo bt‘ba Si8aH
(1) PTEIHE
(3) b6e5850

(2)

(2)
(4)

BiPC/CGDT [15] ¢

Fragmentation

(4) Sporulation
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84. Pathway of ovum in female reproductive system is 88.  Passing of characters from parents to offsprings is called
(1) Ovary - Oviduct — Uterus — Vagina ' (1) Heredity (2) Natural selection
(2) Vagina — Uterus — Oviduct — Ovary (3) Variations (4) Aquired characters
(3) Ovary — Oviduct — Uterus , 2300 0feTrod 308803 (B 8oD
(4) Uterus — Vagina — Oviduct I sses -ﬁ &
8 BS53y8 SeS3E° 006550 (EATEOD SrKED (1) evods (2) ©HS g0
3) D
(1) § De¥o — § Dasirs o oysobo — D F g ) epdimra
g . 2 I 89. The resin obtained from Pinus is used in
2) Ard - ﬁcjj-‘é‘ol’no - Desrory — 9 DesS’¥o | (1) Varnish (2) Bread (3) Rubber (4), Medicines
(3) S dafio % buwie o noysawo . DI J0E), D0 BHPH B S0’ T .
(@) KooydaHo — @D — & Deseirs () 8 (2) && (3) Seyd (4) SOHen
- — , _ _ 90. Scientific name of ‘Touch me not’ plant is
85. Phenotypic ratio of F| generation in Mendel’s Monohybrid cross | a\ (1) Mangifera indica ) Mimosa pudica
oS ¥ oS Gﬁcﬂrﬁoés ﬁq)%édré ‘b:}) & (3) A:zadirachta indica (4) Cincona officinalis
(1) 1:2:1 2 2:1 / 085 30K, TYAD THO
(3) 3=l iy ool (1) S5m0EDS 5ods (2) D> il
86. The tendency of pollutants to concentrate as they move from one trophic level to the next
MR g yotpo d P (3) e=~dsE gods® (4) oS e9dHTdH
(1)  Bioaccumulation (2)  Bio-magnification 91.  Microvilli is present in ‘P’ and they work as Q. The ‘P’ and ‘Q’ are
(3) Biological Progression (4) Bio-remediation (1) P= inltjestige. Q = Absorber of nutrients into organs
v (2) P = Absorber of nutrients, Q = Intestine
SEY Feiné’ 5,50,;@ 3"01\&%55353’5 DGRBS (3) P =Small intestine, Q = Absorber of nutrients into blood
(1) BOE SESFS30 (2) BIE 3880 (4) Al of these
| Ry SrSsTey ‘P’ & 08 T7¢3 59 ‘Q” 08 P’ 0akw ‘Q’ o
(3) BAEPEHS (4) BIE 90980
() P=20, Q=e3db>06d8 iz $H5m0
87. Which of the following system co-ordinates to digestive system ? :
i.  Circulatory system ii.  Nervous system (2) P=2z0 $5890, Q = Hio
1.  Skeletal system iv.  Reproductory system _ -
(1) iand ii (2) iandii (3)  P=08) 21, Q= 85083 Fuso §aes0
Z) i and;i < (4) iandiv ) é;,)bcl
DY &) JHRE BS0HO 9SIE0 ? : o 2 '
g §PRS DedIgabO eB50 92. Energy currency is the name of this and it is formed due to
i 958509 T SN0 . (l) ATP - Digestion (2) NADP - RESPiI‘B!iOn
: e & ‘ - 5% (3) ATP - Glycolysis (4) NADP - Glycolysis
i, ©RS028 I35 v, (SS58)8 3559 “IRHQ KOy D BID Deoth ? 3 D S8y BT Dy ?
(1) i308ad3w iii (2) i0Ow ii | , (1) ATP - &g 3 (2) NADP - 58D
(3) i HOAW i (@) 13000k iv (3) ATP —gs-e:?afo | (4) NADP —gs-e:!o‘:o
BiPC/CGDT [16] . BiPC/CGDT 17" Turn Over
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93. Cuscuta plant absorbs food through
(1) Haustoria (2) Stem
(3) Root (4) Flower
53085 J08), B oeo° &350 WEBK0B.
(1) SISz (2) SPo&AW
3) 3 4 DZo
94. The digestive juice without enzyme is
(1) Gastric juice (2) Pancreatic juice
(3) Intestinal juice - (4 Bilejuice
308 TIE’ JoBD 8 &Y o
(1) =685830 2) § %0
(3) @0 530 (4) T‘£€§5 80
95. Which of the following is not related to the 4 R’s of environmental protection ?
(1) Reduce (2) Reuse
(3) Recycle (4) Remove
- So7p8Es 08K ST ESE Trenid ‘R’ 0% 3oSID
(1) Shoddo (2) &HOA T*&E&o
3) HSSdano (4) 3 doneo
96. Watershed means
(1) Land between water sources usually of two rivers or streams.
(2) Village boundary
(3) Drainage system
(4) Village tank
T30 D& eod
(1) B0k Shen Boe SPenHe & 40 (PoSo
(2) (o S0SE
(3) S0WHID A3 FEHEO SeS
(4) ([T IO
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Match the following :

1. Skin Bile pigments

” . () a

1. l:lvcr () b. Sebum

. Colon ( ) c. Salts of calcium, magnesium
28353508,

. W&o () a ?ﬁe‘.’é;tﬁa’:: NI

. S*80Ho ()b 220

il D¢ (DO () c. s8ano, dDAbaho oSeren
(1) b,a,c (2) a.b.,c
(3) ¢ b.a (4) b,c,a

The method of artificial propagation by which thousands of plants can be grown in very
short period is

(1) Grafting (2) Layering

(3) Cutting (4) Tissue Culture

S 5°0 J;908° Jo o’ InHEW VoW KIS THARSD IFTHEw

(1) oot Seyes (2) es0tD 5‘&32})

3) P&So - (4) Sezro SN0

The tropic movement of tendrils is

(1) Geotropism (2) Thigmotropism

(3) Chemotropism (4) Hydrotropism

308 SKod’d exSgS0

(1) mﬁ}éﬁ @ﬁ);ﬁgﬁo (2) F’Jojﬂ,} Eﬂé};ﬁg‘:ﬁo

(3) BADLIE @IS0 (4) e oSYSo

Sense organ — |A| —— Spinal Cord —— [B| —— Motor nerve —— Tissue

Here A and B represents ‘;
(1) A = Brain, B = Sensory nerve (2) A =Sensory nerve, B = Receptor
(3) A =Receptor, B = Sensory nerve (4) A = Sensory nerve, B = Brain

gI0BADO — [A| — IWD*S0 — [B] — Trosmrd — Sevmreo

A A, B & Ho&Sons Soren
() A=, B=S TG (2) A=g3TG, B = Tr%0

3) A=(r&%o,B=2% TG (4) A=23TG, B =8
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